T 9 f(x) = -2 =5, g(x) = 4x+ 1 o Hhate] £(2) =a, g(3) = b

@D 6 @ 7 ® 8

@

® 10

f@)=—5 -5=~6=a

g(3)=4x3+1=13=b

3 3

(2a+3b _ 2x(=6)+3x13 _ 27

3

=9




& %7t xo] BE AAFSY AL BE T2HY

@ y+2x=5 © xy=
1
®y=§x @ y=x(3x-1)

® y=4x-4(x-1)

a0 200 066 @Doe 6eo6




Ak y = £ (x) oA f(x) = gx—B Ao, £(4)+£(3) O A

© - -= ©) = @ 1 ® 2




H|

@ 4 ®5 @7 @10

O 2

——x+1+4
——x+5

y:
y:

0=—§x+5

. x=10




o] JZ = x O F2 3 WE
o] 2] x AHL2?

oo

+

Ellll =
—|-‘ ><
_v;

® -9 @—6 ® -3 @ 3

§x+8 oA x HH: -




=2ax+35yEF0 2 27 HPolF
7FEIQICE. A a, b & a+ b O B2

D1 @)2 ® 3 @ 4

SHAEY y = 2x+b

a=1,b=1
wabA o + b =20k,

y=2ax+3+ (-2) =2ax+1=2x+bo|BZ




i

\VARR 4

0
i

= yA

~&B

olt}.
8 4
Y=3T3
4
x%—i’?ﬁz%z—%
3
. 1
T2

x 73 7t W, y 7} 8 SUFotER J& 7] &=

i

i)

rlo
(JCRTN

w| oo
<




\VARR 4
0x
i

12

~&B

(=2, 3), (1, 12) & AYEZ 7|27 = 11_2—(__?;) =30]1

y=3x+b0l (1, 12)E YstA b =9
w2tA a4 b =349 = 120t}




9. Al ™ A(-1, -3),B(3,5),C(m m+3)°] &
o], m ] gh= kot

> E

> =g 4

=
T

S
)
2
et
Lo
k)
e

~&B

Al A AB,C7H & A4 glo] Holmz

5-(-3) m+3-5
3-(-1)  m-3
5 =2

m-—3
2m—6=m—2

om=4




ol

O A (-2,5)5 Adr}

® x 9 gol1







12, oh& IO BG4, 8) & A% 0
e R Ry N
®y=§x—3 ®y=§x—2 / -
2 2 0 -
®)’=§x+3 @)y = —x+2 /
®y=2 7
y=5¥
Hastu 2 71&7]7} Zrt.
fe) 3_(_3) _§_§
(71&7]) = =, =.
y:gx+b°ﬂ (4, 8) = tidstd




T4 5), (-2, -7) 2 AYE F4do o
E’ri??;}tm a+b 9 FH2?

gl

A0] A2y = axtb

®-2 @-1 ®o0 @ 1 ® 2
oL ()’94 e %‘7]’%}:)
V71 Corgrer o 10
T A (4, 5), (-2, -7) & AYE A4 7erE % _
-12
ry =20]22
y=ax+b oA y=2x+b °Jt}.
(4, 5) S HYSIHA 5=8+b,b=-3 O] B2 YA}FL0] A2

y=2x-3°|t.
w2t a+ b = -1 o|th




(a, 1) & A& W, a o g27?

@ 0

O

y=3x-29° (a, 1) & HY5IH

La=1




15.

x¥o] —30]3 ydHo] 69 IARAFE yF HFOE pITF 0
ANAYY y = ax + 27} HAtt a - b2 g okl
»
[> Heh: 6

xdHo] —30]1 yAHo] 62 AFE

X y

- _:]_O .

— i=;

wet A A2lshE AS AAeE y =204+ 6°] 22 g = 20| 1L

o] F4E yE ugko 2 pukE PaolF Al e
y=2x+6+5b3lt 1&41 =2x+20|B=R

b=—40]tt @&t a - b =2 - (-4) = 6°]T}.




16. 7]20]0°C & o &89 &

g2 24 331m 0|12, 7]20] 1°C S
Wotet 24 0.6m 4 %20l Frhachn det. 4ele] 4ol 24
337m o W] 7227

® 2°C @ 5°C

® 7°C @ 9°C @10°C
—€B

71 2& x=t shd
331 + 0.6x = 337
0.6x=6

. x=10




Attt lem 4 Zrobxith

F27F A 25 2olH 4

(e}
[e]

21
o, 9] Zo]7} 18cm 7} H =

Z0o]7} 30cm 2

17.

St
=

a

__o_l
R

__o_l
o

__o_l
izl

__o_l
il

Bl
.
1jo
oy
=N
oy e
° 5
NH %
o I
__.i, .
x: .
ol lq
o
< X
v
K~
__o_l )
— Il
(o)

=
o~
ou |
TS




~~

=

A

(cm)

40

@ 2 A7+ 3)3 Al

® 5 A7+

T

N

@ 1A

N

@ 44

~

<

GB)
S |
.
= B
© 5
(e
> &
U
&
__o_u >




19.

Zo)7F 20em 91 E4do] Qith. o] §4HL2 10g A= 5 wint
o 2cm A Eoldtil gttt xg A2 FE 9 4
yem 2t g off, x 9F y O] PAAS 2N 10g A2 FF B 7l Fofof
S Zo|7} 36 em 7t HE=A] Mzt

> G

| = il

[> BEFD y=02v+20 E%%x—i—ZO%—i—ZO
>

0
o

870

B ~
y=0.2x420,

y=36 <4 o, x o] gt

36=02x+20,x=80=10%8

olme goof sl F= 87




=017k 80m §1 20 S| Aol 9y, o] " o] dzfso]& 7} 20
SOl wix 2m o] W27]2 oF 54 ATk otk FEehA] «
Z 5o Aoz iy duolg o AG7tA ] FolE y et
o] delH|olEl7} 0] 32m Q1 8 SO AT A2 LT A H =
T2}

®10x% @1zs ®20z%

@ 2zy @uzs

20 2014 % om €] BH2712 ¢ 24 el eng oy ol
80 — 2x = 32
Lox=24(%)




21.

200L o] =o] 5°] e &&olA 2 2ttt 40L A =] &2 L2t
2 SR Y7 *1316}04 EFEFEE e FeyLa
o], x &y o WAAL? (F, 0<x<10)

@ y =200+ 40x @ y =200 - 40x ® y =200+ 20x

@)y=200-20x @ y=200-80x

18] 20L & Z2L}-2tt,
x & 30] 20x 52t}

-y = 200 — 20x




22,

36

& f(x) = —a ol thsted £(36) = 0. f(b) =3 L W atb ]

e Toteiet,

flx) = % —a A £(36) =0 °|2&

ﬁ—azl—aZOO]D}.

36
La=1

36
f(x)=;—1°ﬂ*1 f(b) =302
36 36
7—1— ,7—4
"~ b=9

a+b=1+9=10




. 1 -
AAGF y = x+aty = bx—62] 1T

=
y
7FA (6, 6)= B5 Adeh olnfl, dapg y=bz—6
_ X — 4= O}=Ess=
f(x) = ax+bolA f(k) =45 HFoh=k 2
o] gre? -
1/6 z
1 2 3 1
D)3 @ 3 4 @ -2 ® -3
1
2= ez

3
1
6:§x6+a, 6=bx6-6

a=4, b=20°]|t}.
S f(x) =4x+2
flk)y=4xk+2=14

k= %Olﬂr.

y=c-x+a%y=>bx-6° I2HZI} A (6, 6)=




=
E\L

24. 4AFYFy=ax+b o x AHo] -1 0]11, y AHHo| 2 A off, LA}
y=—bx+a 7t AUA = AREH2?

@ A 1A @ Al 2445
(© R EREE @ A 4445w

® A AR A 42T

yAHo|20|B2 y=ax+2, 3 (-1,0) YA
AUER 0=-a+2.a=2,b=2
y=-2x+29 1HE TI=H 2




25.

@) —g @ -1 ® 2 o o\
@ 4 ® 6
Td™ e F49 2 n 7]&7]= —20]1, o] &t

y=ax+ b7} BYPoIOE g = -2

whebA] FolH QRIS y = —2x - 30]T,

o] g9 x4 =—2x—3,x=—g°]r/]’.

Szl
1__'\_.

EF yE} b A yFE7} -30]BF b= -

)




